# Generalizations of Hermite-Hadamard Type Integral Inequalities for Convex Functions 

Ying Wu ${ }^{1(D)}$, Hong-Ping Yin ${ }^{1(D)}$ and Bai-Ni Guo ${ }^{2, *}$ (D)<br>1 College of Mathematics and Physics, Inner Mongolia University for Nationalities, Tongliao 028043, China; nmwuying@163.com (Y.W.); yinhongping008@163.com (H.-P.Y.)<br>2 School of Mathematics and Informatics, Henan Polytechnic University, Jiaozuo 454010, China<br>* Correspondence: bai.ni.guo@gmail.com

Citation: Wu, Y.; Yin, H.-P.; Guo, B.-N. Generalizations of Hermite-Hadamard Type Integral Inequalities for Convex Functions.
Axioms 2021, 10, 136. https://
doi.org/10.3390/axioms10030136

Academic Editor: Wei-Shih Du

Received: 20 April 2021
Accepted: 25 June 2021
Published: 28 June 2021

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Copyright: © 2021 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:/ / creativecommons.org/licenses/by/ 4.0/).


#### Abstract

In the paper, with the help of two known integral identities and by virtue of the classical Hölder integral inequality, the authors establish several new integral inequalities of the Hermite-Hadamard type for convex functions. These newly established inequalities generalize some known results.


Keywords: generalization; integral inequality; convex function; Hermite-Hadamard type

MSC: 26A51, 26D15, 26D20, 26E60, 41A55

## 1. Backgrounds and Motivations

A function $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be convex on an interval $I$ if

$$
f(t x+(1-t) y) \leq t f(x)+(1-t) f(y)
$$

holds for all $x, y \in I$ and $t \in[0,1]$. If $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is a convex function and $a, b \in I$ with $a<b$, then

$$
\begin{equation*}
f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x \leq \frac{f(a)+f(b)}{2} \tag{1}
\end{equation*}
$$

The equalities in (1) are valid if and only if $f(x)$ is a linear function on $[a, b]$, as can be seen in [1] (p. 59). In mathematical literature, the double inequality (1) is called the Hermite-Hadamard inequality, named after Charles Hermite (1822-1901) and Jacques Hadamard (1865-1963). The Hermite-Hadamard inequality (1) is a necessary and sufficient condition for a real function to be convex on a closed and bounded real interval. It was extensively studied and generalized over more than one century, since it was first published in $[2,3]$. Copies of these two papers are available on the Internet since they belong to the fundamental knowledge of the humankind. The monograph [1] is fundamental and can be freely downloaded from the Internet. Other four fundamental monographs are [4-7]. They present the directions of development of the research in this field until now. Since then, the double inequality (1) has attracted many mathematicians' attention. Especially, in the last three decades, numerous generalizations, variants and extensions of this double inequality have been presented. In particular, the Hermite-Hadamard-type inequalities associated with a variety of fractional integral operators have been provided in $[8,9]$ and closely related references therein.

In the paper [10], the Hermite-Hadamard integral inequality (1) was generalized as the following theorems.

Theorem 1 ([10] (Lemma 3)). Let $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on $I^{\circ}$, the interior of an interval $I$, with $a, b \in I$ and $a<b$. If $f$ is a convex function on $I$, then

$$
\begin{equation*}
f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x \leq \frac{1}{4}\left[f\left(\frac{3 b-a}{2}\right)+2 f\left(\frac{a+b}{2}\right)+f\left(\frac{3 a-b}{2}\right)\right] \tag{2}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-\frac{f\left(\frac{a+b}{2}\right)}{2}\right| \leq\left|\frac{f\left(\frac{3 b-a}{2}\right)+f\left(\frac{3 a-b}{2}\right)}{4}\right| \tag{3}
\end{equation*}
$$

After carefully verifying the above, we find that the convexity of $f$ should be added to [10] (Theorem 3). The slightly amended version of [10] (Theorem 3) can be stated as follows.

Theorem 2 ([10] (Lemma 3)). Let $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on $I^{\circ}$ with $a, b \in I$ and $a<b$, the second derivative $f^{\prime \prime}:\left[\frac{3 a-b}{2}, \frac{3 b-a}{2}\right] \rightarrow \mathbb{R}$ be a continuous function on $\left[\frac{3 a-b}{2}, \frac{3 b-a}{2}\right]$, and $q>1$. If $f$ and $\left|f^{\prime \prime}\right|^{q}$ are convex on $\left[\frac{3 a-b}{2}, \frac{3 b-a}{2}\right]$, then

$$
\begin{aligned}
\left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-\frac{1}{4}\left[f\left(\frac{3 b-a}{2}\right)+2 f\left(\frac{a+b}{2}\right)+f\left(\frac{3 a-b}{2}\right)\right]\right| \\
\leq \frac{(b-a)^{2}}{3}\left[\frac{1}{2}\left(\left|f^{\prime \prime}\left(\frac{3 b-a}{2}\right)\right|^{q}+\left|f^{\prime \prime}\left(\frac{3 a-b}{2}\right)\right|^{q}\right)\right]^{1 / q}
\end{aligned}
$$

In this paper, with the help of two known integral identities (see Lemmas 1 and 2 in the next section) and by virtue of the classical Hölder integral inequality, we aim to generalize those inequalities in Theorems 1 and 2 to several new Hermite-Hadamard-type inequalities for convex functions.

## 2. Two Lemmas

For establishing new Hermite-Hadamard type inequalities for convex functions and generalizing those inequalities in Theorems 1 and 2, we need the following lemmas.

Lemma 1 ([11] (Lemma 2.1)). Let $f: I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on $I^{\circ}$ and $a, b \in I$ with $a<b$. If $f^{\prime} \in L_{1}([a, b])$, then

$$
\begin{equation*}
\frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x=\frac{b-a}{2} \int_{0}^{1}(1-2 t) f^{\prime}(b+t(a-b)) \mathrm{d} t . \tag{4}
\end{equation*}
$$

Remark 1. Since

$$
\int_{0}^{1 / 2}(1-2 t) f^{\prime}(b+t(a-b)) \mathrm{d} t=\frac{1}{2} \int_{0}^{1}(1-u) f^{\prime}\left(b+u \frac{a-b}{2}\right) \mathrm{d} u
$$

and

$$
\int_{1 / 2}^{1}(1-2 t) f^{\prime}(b+t(a-b)) \mathrm{d} t=-\frac{1}{2} \int_{0}^{1} u f^{\prime}\left(\frac{a+b}{2}+u \frac{a-b}{2}\right) \mathrm{d} u
$$

the identity (4) is equivalent to

$$
\begin{aligned}
\frac{f(a)+f(b)}{2}- & \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x \\
& =\frac{b-a}{4}\left[\int_{0}^{1}(1-t) f^{\prime}\left(b+t \frac{a-b}{2}\right) \mathrm{d} t-\int_{0}^{1} t f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right) \mathrm{d} t\right]
\end{aligned}
$$

Lemma 2 ([12] (Lemma 2.1)). Let $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on $I^{\circ}$ and $a, b \in I$ with $a<b$. If $f^{\prime} \in L_{1}([a, b])$, then

$$
\begin{align*}
\frac{1}{b-a} \int_{a}^{b} f(x) & \mathrm{d} x-f\left(\frac{a+b}{2}\right) \\
& =(b-a)\left[\int_{0}^{1 / 2} t f^{\prime}(b+t(a-b)) \mathrm{d} t+\int_{1 / 2}^{1}(t-1) f^{\prime}(b+t(a-b)) \mathrm{d} t\right] . \tag{5}
\end{align*}
$$

Let $u, v \in \mathbb{R}$ with $u<v$ and $\lambda>\mu \geq 0$. For $t \in[0,1]$, it is clear that

$$
\begin{equation*}
v+t(u-v)=\left(\frac{\lambda-\mu}{\lambda+\mu} t+\frac{\mu}{\lambda+\mu}\right) \frac{\lambda u-\mu v}{\lambda-\mu}+\left(\frac{\mu-\lambda}{\lambda+\mu} t+\frac{\lambda}{\lambda+\mu}\right) \frac{\lambda v-\mu u}{\lambda-\mu} . \tag{6}
\end{equation*}
$$

## 3. New Integral Inequalities of Hermite-Hadamard Type

Now, with the help of integral identities (4) and (5), and by virtue of the classical Hölder integral inequality, we begin to establish several new integral inequalities of the Hermite-Hadamard type for convex functions on $\mathbb{R}$ and to generalize integral inequalities in the aforementioned Theorems 1 to 2.

In this section, we use the notations

$$
\begin{equation*}
I_{\lambda, \mu}(u, v)=\left[\frac{\lambda u-\mu v}{\lambda-\mu}, \frac{\lambda v-\mu u}{\lambda-\mu}\right] \quad \text { and } \quad I_{\lambda, \mu}^{\circ}(u, v)=\left(\frac{\lambda u-\mu v}{\lambda-\mu}, \frac{\lambda v-\mu u}{\lambda-\mu}\right) . \tag{7}
\end{equation*}
$$

Theorem 3. Suppose that $\lambda>\mu \geq 0$ and $a, b \in \mathbb{R}$ with $a<b$. Let $f: I_{\lambda, \mu}(a, b) \rightarrow \mathbb{R}$ be $a$ convex function. Then

$$
\begin{align*}
f\left(\frac{a+b}{2}\right) & \leq \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x \\
\leq & \frac{1}{2(\lambda+\mu)}\left[(\lambda-\mu) f\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)+4 \mu f\left(\frac{a+b}{2}\right)+(\lambda-\mu) f\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right] \tag{8}
\end{align*}
$$

and

$$
\begin{equation*}
\left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-\frac{2 \mu}{\lambda+\mu} f\left(\frac{a+b}{2}\right)\right| \leq \frac{\lambda-\mu}{2(\lambda+\mu)}\left|f\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)+f\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|, \tag{9}
\end{equation*}
$$

where the equalities in (8) and (9) are valid if $f(x)$ is a linear function on $[a, b]$.
Proof. Using the change of the variable $x=\frac{\lambda}{\lambda+\mu} t+\frac{\mu}{\lambda+\mu}(a+b)$ for $t \in\left[\frac{\lambda a-\mu b}{\lambda}, \frac{\lambda b-\mu a}{\lambda}\right]$ and the convexity of $f$ on $I_{\lambda, \mu}(a, b)$, we have

$$
\begin{array}{rl}
\frac{1}{b-a} \int_{a}^{b} & f(x) \mathrm{d} x=\frac{\lambda}{(\lambda+\mu)(b-a)} \int_{(\lambda a-\mu b) / \lambda}^{(\lambda b-\mu a) / \lambda} f\left(\frac{\lambda}{\lambda+\mu} t+\frac{\mu}{\lambda+\mu}(a+b)\right) \mathrm{d} t \\
& =\frac{\lambda}{(\lambda+\mu)(b-a)} \int_{(\lambda a-\mu b) / \lambda}^{(\lambda b-\mu a) / \lambda} f\left(\frac{\lambda-\mu}{\lambda+\mu} \frac{\lambda}{\lambda-\mu} t+\frac{2 \mu}{\lambda+\mu}\left(\frac{a+b}{2}\right)\right) \mathrm{d} t \\
& \leq \frac{\lambda}{(\lambda+\mu)(b-a)} \int_{(\lambda a-\mu b) / \lambda}^{(\lambda b-\mu a) / \lambda}\left[\frac{\lambda-\mu}{\lambda+\mu} f\left(\frac{\lambda}{\lambda-\mu} t\right)+\frac{2 \mu}{\lambda+\mu} f\left(\frac{a+b}{2}\right)\right] \mathrm{d} t  \tag{10}\\
& =\frac{(\lambda-\mu)^{2}}{(\lambda+\mu)^{2}(b-a)} \int_{(\lambda a-\mu b) /(\lambda-\mu)}^{(\lambda b-\mu a) /(\lambda-\mu)} f(t) \mathrm{d} t+\frac{2 \mu}{\lambda+\mu} f\left(\frac{a+b}{2}\right)
\end{array}
$$

and

$$
\begin{equation*}
\frac{(\lambda-\mu)^{2}}{(\lambda+\mu)^{2}(b-a)} \int_{(\lambda a-\mu b) /(\lambda-\mu)}^{(\lambda b-\mu a) /(\lambda-\mu)} f(t) \mathrm{d} t \leq \frac{\lambda-\mu}{2(\lambda+\mu)}\left[f\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)+f\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right] . \tag{11}
\end{equation*}
$$

Substituting the inequality (11) into the inequality (10), we have

$$
\begin{aligned}
0 & \leq \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-f\left(\frac{a+b}{2}\right) \\
& \leq \frac{1}{2(\lambda+\mu)}\left[(\lambda-\mu) f\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)+4 \mu f\left(\frac{a+b}{2}\right)+(\lambda-\mu) f\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right]-f\left(\frac{a+b}{2}\right) \\
& =\frac{1}{2(\lambda+\mu)}\left[(\lambda-\mu) f\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)-2(\lambda-\mu) f\left(\frac{a+b}{2}\right)+(\lambda-\mu) f\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right]
\end{aligned}
$$

Therefore, the inequalities (8) and (9) hold.
It is straightforward to verify that, if $f(x)=c x+d$ on $[a, b]$ for $c, d$ being constants, the equalities in (8) and (9) are valid. Theorem 3 is thus proven.

Remark 2. If setting $\lambda=1$ and $\mu=0$ in Theorem 3, then we recover the double inequality (1).
If letting $\lambda=3$ and $\mu=1$ in Theorem 3, we derive the above inequalities (2) and (3) obtained in [10] (Lemma 3).

Theorem 4. Suppose that $\lambda>\mu \geq 0$ and $a, b \in \mathbb{R}$ with $a<b$. Let $f: I_{\lambda, \mu}(a, b) \rightarrow \mathbb{R}$ be $a$ differentiable mapping on $I_{\lambda, \mu}^{\circ}(a, b)$. If $\left|f^{\prime}\right|^{q}$ for $q \geq 1$ is a convex function on $I_{\lambda, \mu}(a, b)$, then

$$
\begin{align*}
& \left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-f\left(\frac{a+b}{2}\right)\right| \\
\leq & \frac{b-a}{8}\left\{\left[\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}\right.  \tag{12}\\
& \left.+\left[\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}\right\} .
\end{align*}
$$

Proof. By Lemma 2 and the Hölder integral inequality, we have

$$
\begin{align*}
& \left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-f\left(\frac{a+b}{2}\right)\right| \\
\leq & (b-a)\left[\int_{0}^{1 / 2} t\left|f^{\prime}(b+t(a-b))\right| \mathrm{d} t+\int_{1 / 2}^{1}(1-t)\left|f^{\prime}(b+t(a-b))\right| \mathrm{d} t\right] \\
\leq & (b-a)\left\{\left(\int_{0}^{1 / 2} t \mathrm{~d} t\right)^{1-1 / q}\left[\int_{0}^{1 / 2} t\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right.  \tag{13}\\
& \left.+\left(\int_{1 / 2}^{1}(1-t) \mathrm{d} t\right)^{1-1 / q}\left[\int_{1 / 2}^{1}(1-t)\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right\}
\end{align*}
$$

Since $(\mu-\lambda) t+\lambda \geq 0$ and

$$
\left(\frac{\lambda-\mu}{\lambda+\mu} t+\frac{\mu}{\lambda+\mu}\right)+\left(\frac{\mu-\lambda}{\lambda+\mu} t+\frac{\lambda}{\lambda+\mu}\right)=1
$$

for $t \in[0,1]$, letting $u=a$ and $v=b$ in the identity (6) and using the convexity of $\left|f^{\prime}\right|^{q}$ arrive at

$$
\begin{equation*}
\left|f^{\prime}(b+t(a-b))\right|^{q} \leq \frac{(\lambda-\mu) t+\mu}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{(\mu-\lambda) t+\lambda}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q} . \tag{14}
\end{equation*}
$$

Straightforward computation yields

$$
\begin{align*}
& \int_{0}^{1 / 2} t\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t \\
\leq & \int_{0}^{1 / 2} t\left[\frac{(\lambda-\mu) t+\mu}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{(\mu-\lambda) t+\lambda}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right] \mathrm{d} t  \tag{15}\\
= & \frac{\lambda+2 \mu}{24(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{2 \lambda+\mu}{24(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}
\end{align*}
$$

and

$$
\begin{align*}
& \int_{1 / 2}^{1}(1-t)\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t \\
\leq & \int_{1 / 2}^{1}(1-t)\left[\frac{(\lambda-\mu) t+\mu}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{(\mu-\lambda) t+\lambda}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right] \mathrm{d} t  \tag{16}\\
= & \frac{2 \lambda+\mu}{24(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{\lambda+2 \mu}{24(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q} .
\end{align*}
$$

It is easy to see that

$$
\begin{equation*}
\int_{0}^{1 / 2} t \mathrm{~d} t=\int_{1 / 2}^{1}(1-t) \mathrm{d} t=\frac{1}{8} \tag{17}
\end{equation*}
$$

Applying inequalities (15), (16), and (17) into the inequality (13) gives

$$
\begin{array}{rl}
\left\lvert\, \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d}\right. & x-f\left(\frac{a+b}{2}\right) \left\lvert\, \leq \frac{b-a}{8}\left\{\left[\int_{0}^{1 / 2} t\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right.\right. \\
& \left.+\left[\int_{1 / 2}^{1}(1-t)\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right\} \\
\leq & \frac{b-a}{8}\left\{\left[\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}\right. \\
& \left.+\left[\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}\right\}
\end{array}
$$

The proof of Theorem 4 is complete.
Corollary 1. Under conditions of Theorem 4,

1. if $q=1$, then

$$
\left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-f\left(\frac{a+b}{2}\right)\right| \leq \frac{b-a}{4}\left[\frac{\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|+\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|}{2}\right]
$$

2. if $\lambda=1$ and $\mu=0$, then

$$
\begin{aligned}
& \left\lvert\, \frac{1}{b-a} \int_{a}^{b} f(x)\right. \mathrm{d} \\
& \left.x-f\left(\frac{a+b}{2}\right) \right\rvert\, \\
& \leq \frac{b-a}{8}\left\{\left[\frac{\left|f^{\prime}(a)\right|^{q}+2\left|f^{\prime}(b)\right|^{q}}{3}\right]^{1 / q}+\left[\frac{2\left|f^{\prime}(a)\right|^{q}+\left|f^{\prime}(b)\right|^{q}}{3}\right]^{1 / q}\right\}
\end{aligned}
$$

Theorem 5. Suppose that $\lambda>\mu \geq 0$ and $a, b \in \mathbb{R}$ with $a<b$. Let $f: I_{\lambda, \mu}(a, b) \rightarrow \mathbb{R}$ be $a$ differentiable mapping on $I_{\lambda, \mu}^{\circ}(a, b)$, where $I_{\lambda, \mu}(a, b)$ and $I_{\lambda, \mu}^{\circ}(a, b)$ are defined as in (7). If $\left|f^{\prime}\right|^{q}$ for $q>1$ is a convex function on $I_{\lambda, \mu}(a, b)$, then

$$
\begin{align*}
\left\lvert\, \frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-\right. & f\left(\frac{a+b}{2}\right) \left\lvert\, \leq \frac{b-a}{4}\left(\frac{q-1}{2 q-1}\right)^{1-1 / q}\left\{\left[\frac{\lambda+3 \mu}{4(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}\right.\right.\right. \\
& \left.+\frac{3 \lambda+\mu}{4(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}+\left[\frac{3 \lambda+\mu}{4(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}\right. \\
& \left.\left.+\frac{\lambda+3 \mu}{4(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q}\right]^{1 / q}\right\} \tag{18}
\end{align*}
$$

Proof. Similar to the proof of the inequality (12) in Theorem 4, making use of Lemma 2 and the Hölder integral inequality reveals

$$
\begin{align*}
& \left|\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x-f\left(\frac{a+b}{2}\right)\right| \\
& \leq(b-a)\left\{\left[\int_{0}^{1 / 2} t^{q /(q-1)} \mathrm{d} t\right]^{1-1 / q}\left[\int_{0}^{1 / 2}\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right.  \tag{19}\\
& \left.\quad+\left[\int_{1 / 2}^{1}(1-t)^{q /(q-1)} \mathrm{d} t\right]^{1-1 / q}\left[\int_{1 / 2}^{1}\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t\right]^{1 / q}\right\}
\end{align*}
$$

where

$$
\begin{equation*}
\int_{0}^{1 / 2} t^{q /(q-1)} \mathrm{d} t=\int_{1 / 2}^{1}(1-t)^{q /(q-1)} \mathrm{d} t=\frac{q-1}{2 q-1}\left(\frac{1}{2}\right)^{(2 q-1) /(q-1)} \tag{20}
\end{equation*}
$$

From the inequality (14) and by the convexity of $\left|f^{\prime}\right|^{q}$, we obtain

$$
\begin{equation*}
\int_{0}^{1 / 2}\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t \leq \frac{\lambda+3 \mu}{8(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{3 \lambda+\mu}{8(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q} \tag{21}
\end{equation*}
$$

and

$$
\begin{equation*}
\int_{1 / 2}^{1}\left|f^{\prime}(b+t(a-b))\right|^{q} \mathrm{~d} t \leq \frac{3 \lambda+\mu}{8(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-\mu b}{\lambda-\mu}\right)\right|^{q}+\frac{\lambda+3 \mu}{8(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-\mu a}{\lambda-\mu}\right)\right|^{q} \tag{22}
\end{equation*}
$$

Substituting inequalities (20), (21) and (22) into the inequality (19) yields the inequality (18). The proof of Theorem 5 is complete.

Theorem 6. Suppose that $\lambda>\mu \geq 0$ and $a, b \in \mathbb{R}$ with $a<b$. Let $f: I_{\lambda, \mu}(a, b) \rightarrow \mathbb{R}$ be $a$ differentiable mapping on $I_{\lambda, \mu}^{\circ}(a, b)$, where $I_{\lambda, \mu}(a, b)$ and $I_{\lambda, \mu}^{\circ}(a, b)$ are defined as in (7). If $\left|f^{\prime}\right|^{q}$ for $q \geq 1$ is a convex function on $I_{\lambda, \mu}(a, b)$, then

$$
\begin{align*}
& \left|\frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x\right| \leq \frac{b-a}{8}\left\{\left[\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-(2 \mu-\lambda) b}{2(\lambda-\mu)}\right)\right|^{q}\right.\right. \\
& \left.\quad+\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) b-\mu a}{2(\lambda-\mu)}\right)\right|^{q}\right]^{1 / q}+\left[\frac{2 \lambda+\mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q}\right. \\
& \left.\left.\quad+\frac{\lambda+2 \mu}{3(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q}\right]^{1 / q}\right\} . \tag{23}
\end{align*}
$$

Proof. By Lemma 1 and the Hölder integral inequality, we have

$$
\begin{align*}
& \left|\frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x\right| \\
\leq & \frac{b-a}{4}\left[\int_{0}^{1}(1-t)\left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right| \mathrm{d} t+\int_{0}^{1} t\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right| \mathrm{d} t\right] \\
\leq & \frac{b-a}{4}\left\{\left(\int_{0}^{1}(1-t) \mathrm{d} t\right)^{1-1 / q}\left[\int_{0}^{1}(1-t)\left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t\right]^{1 / q}\right.  \tag{24}\\
& \left.+\left(\int_{0}^{1} t \mathrm{~d} t\right)^{1-1 / q}\left[\left.\int_{0}^{1} t\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right|\right|^{q} \mathrm{~d} t\right]^{1 / q}\right\} .
\end{align*}
$$

For $t \in[0,1]$, putting $u=a$ and $v=\frac{a+b}{2}$ in the identity (6) and using the convexity of $\left|f^{\prime}\right|^{q}$ result in

$$
\begin{aligned}
& \left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right|^{q} \\
& \quad \leq \frac{(\lambda-\mu) t+\mu}{\lambda+\mu}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q}+\frac{(\mu-\lambda) t+\lambda}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q} .
\end{aligned}
$$

Accordingly, we have

$$
\begin{align*}
\int_{0}^{1} t\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t \leq & \int_{0}^{1} t\left[\frac{(\lambda-\mu) t+\mu}{\lambda+\mu}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q}\right. \\
& \left.+\frac{(\mu-\lambda) t+\lambda}{\lambda+\mu}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q}\right] \mathrm{d} t \\
= & \frac{2 \lambda+\mu}{6(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q}+\frac{\lambda+2 \mu}{6(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q} . \tag{25}
\end{align*}
$$

Similarly, taking $u=\frac{a+b}{2}$ and $v=b$ in the identity (6) gives

$$
\begin{align*}
\int_{0}^{1}(1-t) & \left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t \\
& \leq \frac{\lambda+2 \mu}{6(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-(2 \mu-\lambda) b}{2(\lambda-\mu)}\right)\right|^{q}+\frac{2 \lambda+\mu}{6(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) b-\mu a}{2(\lambda-\mu)}\right)\right|^{q} . \tag{26}
\end{align*}
$$

Substituting inequalities (25) and (26) into inequality (24) yields (23). The proof of Theorem 6 is complete.

Corollary 2. Under conditions of Theorem 6 , if $q=1, \lambda=1$, and $\mu=0$, then

$$
\left|\frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x\right| \leq \frac{b-a}{4}\left[\frac{\left|f^{\prime}(a)\right|+\left|f^{\prime}\left(\frac{a+b}{2}\right)\right|+\left|f^{\prime}(b)\right|}{3}\right]
$$

Theorem 7. Suppose that $\lambda>\mu \geq 0$ and $a, b \in \mathbb{R}$ with $a<b$. Let $f: I_{\lambda, \mu}(a, b) \rightarrow \mathbb{R}$ be $a$ differentiable mapping on $I_{\lambda, \mu}^{\circ}(a, b)$, where $I_{\lambda, \mu}(a, b)$ and $I_{\lambda, \mu}^{\circ}(a, b)$ are defined as in (7). If $\left|f^{\prime}\right|^{q}$ for $q>1$ is a convex function on $I_{\lambda, \mu}(a, b)$ and $0 \leq \ell \leq q$, then

$$
\begin{array}{rl}
\left\lvert\, \frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f\right. & f(x) \mathrm{d} x \left\lvert\, \leq \frac{b-a}{4}\left[\frac{q-1}{2 q-(\ell+1)}\right]^{1-1 / q}\right. \\
& \times\left\{\left[\frac{\lambda+(\ell+1) \mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda a-(2 \mu-\lambda) b}{2(\lambda-\mu)}\right)\right|^{q}\right.\right. \\
& \left.+\frac{(\ell+1) \lambda+\mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) b-\mu a}{2(\lambda-\mu)}\right)\right|^{q}\right]^{1 / q} \\
& +\left[\frac{(\ell+1) \lambda+\mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q}\right.  \tag{27}\\
& \left.\left.+\frac{\lambda+(\ell+1) \mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q}\right]^{1 / q}\right\} .
\end{array}
$$

Proof. Similar to the proof of the inequality (23) in Theorem 6 from Lemma 1 and the Hölder integral inequality, we derive

$$
\begin{align*}
& \left|\frac{f(a)+f(b)}{2}-\frac{1}{b-a} \int_{a}^{b} f(x) \mathrm{d} x\right| \\
\leq & \frac{b-a}{4}\left[\int_{0}^{1}(1-t)\left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right| \mathrm{d} t+\int_{0}^{1} t\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right| \mathrm{d} t\right] \\
\leq & \frac{b-a}{4}\left\{\left[\int_{0}^{1}(1-t)^{(q-\ell) /(q-1)} \mathrm{d} t\right]^{1-1 / q}\left[\int_{0}^{1}(1-t)^{\ell}\left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t\right]^{1 / q}\right.  \tag{28}\\
& \left.+\left[\int_{0}^{1} t^{(q-\ell) /(q-1)} \mathrm{d} t\right]^{1-1 / q}\left[\int_{0}^{1} t^{\ell}\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t\right]^{1 / q}\right\}
\end{align*}
$$

It is obvious that

$$
\begin{equation*}
\int_{0}^{1}(1-t)^{(q-\ell) /(q-1)} \mathrm{d} t=\int_{0}^{1} t^{(q-\ell) /(q-1)} \mathrm{d} t=\frac{q-1}{2 q-(\ell+1)} . \tag{29}
\end{equation*}
$$

By the identity (6) and the convexity of $\left|f^{\prime}\right|^{q}$, we obtain

$$
\begin{align*}
\int_{0}^{1}(1-t)^{\ell}\left|f^{\prime}\left(b+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t & \leq \frac{\lambda+(\ell+1) \mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{(\lambda a-(2 \mu-\lambda) b}{2(\lambda-\mu)}\right)\right|^{q} \\
& +\frac{(\ell+1) \lambda+\mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) b-\mu a}{2(\lambda-\mu)}\right)\right|^{q} \tag{30}
\end{align*}
$$

and

$$
\begin{align*}
\int_{0}^{1} t^{\ell}\left|f^{\prime}\left(\frac{a+b}{2}+t \frac{a-b}{2}\right)\right|^{q} \mathrm{~d} t & \leq \frac{(\ell+1) \lambda+\mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{(2 \lambda-\mu) a-\mu b}{2(\lambda-\mu)}\right)\right|^{q} \\
& +\frac{\lambda+(\ell+1) \mu}{(\ell+1)(\ell+2)(\lambda+\mu)}\left|f^{\prime}\left(\frac{\lambda b-(2 \mu-\lambda) a}{2(\lambda-\mu)}\right)\right|^{q} \tag{31}
\end{align*}
$$

Substituting inequalities (29), (30) and (31) into the inequality (28) concludes the inequality (27). The proof of Theorem 7 is complete.

## 4. Remarks

In this section, we provide several remarks on our main results and related ones

Remark 3. The facts that inequalities (8) and (9) in Theorem 3 are sharp were observed and pointed out by an anonymous referee.

Remark 4. In fact, the new inequalities in this paper are obtained by using the computation techniques inspired by the papers [11,12] and generalizing ideas from the paper [10]. Similar types of inequalities, or particular cases, are obtained in the literature by other techniques. One may see the Hermite-Hadamard type inequalities from [13]. These texts are excerpted and adapted from valuable comments of an anonymous referee of this paper.

Remark 5. The new inequalities for convex and differentiable functions in this paper have particular cases in [10] and some properties make them distinctive from other existing inequalities of the Hermite-Hadamard type under similar hypotheses (for example those from [11]). These texts are excerpted and adapted from valuable comments of an anonymous referee of this paper.

Remark 6. The new inequalities (8) and (9) for convex functions are sharp. But the inequalities involving differentiable functions having derivatives with convexity properties lose the property of sharpness within the class of linear functions. For example, the inequality (12) in Theorem 4, the inequality (18) in Theorem 5, the inequality (23) in Theorem 6, and the inequality (27) in Theorem 7 are not sharp for linear functions, as the classical Hermite-Hadamard inequality (1) and the inequalities from [11] (for similar types of functions), but they are sharp for constant functions. This solves the problem of sharpness easily. These texts are excerpted and adapted from valuable comments of an anonymous referee of this paper.

## 5. Conclusions

In this paper, with the help of two known integral identities and by virtue of the Hölder integral inequality, in Theorems 3-7, and their corollaries, we established several new integral inequalities of the Hermite-Hadamard type for convex functions. These newly established inequalities generalize corresponding ones in the paper [10].

Author Contributions: Writing—original draft, Y.W., H.-P.Y., and B.-N.G. All authors contributed equally to the manuscript and read and approved the final manuscript.
Funding: The first two authors, Y.W. and H.-P.Y., were partially supported by the Natural Science Foundation of Inner Mongolia (Grant No. 2018MS01023) and by the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region (Grant No. NJZZ18154 and No. NJZY20119) in China.
Institutional Review Board Statement: Not applicable.
Informed Consent Statement: Not applicable.
Data Availability Statement: Not applicable.
Acknowledgments: The authors appreciate the anonymous referees for their careful corrections to, helpful suggestions to and valuable comments on the original version of this paper.
Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Dragomir, Silvestru Sever.; Pearce, C.E.M. Selected Topics on Hermite-Hadamard Type Inequalities and Applications, Amended Version, RGMIA Monographs, Victoria University, 2002. Available online: https:/ /rgmia.org/monographs/hermite_hadamard. html (accessed on 20 June 2021).
2. Hadamard, J. Étude sur les propriétes des fonctions entiéres et en particulier d'une fonction considerée par Riemann. J. Math. Pures Appl. 1893, 58, 171-215.
3. Hermite, C. Sur deux limites d'une intégrale définie. Mathesis 1883, 3, 82-82.
4. Mitrinović, D.S.; Pečarić, J.E.; Fink, A.M. Classical and New Inequalities in Analysis; Kluwer Academic Publishers: Dordrecht, The Netherlands; Boston, MA, USA; London, UK, 1993. [CrossRef]
5. Niculescu, C.P.; Persson, L.-E. Convex Functions and Their Applications: A Contemporary Approach. In CMS Books in Mathematics/Ouvrages de Mathématiques de la SMC, 2nd ed.; Springer: Cham, Switzerland, 2018. [CrossRef]
6. Pachpatte, B.G. Analytic Inequalities: Recent Advances. In Atlantis Studies in Mathematics, 3; Atlantis Press: Paris, France, 2012. [CrossRef]
7. Pečarić, J.; Proschan, F.; Tong, Y.L. Convex Functions, Partial Orderings, and Statistical Applications. In Mathematics in Science and Engineering; Academic Press, Inc.: Boston, MA, USA, 1992; Volume 187.
8. Cao, J.; Srivastava, H.M.; Liu, Z.-G. Some iterated fractional q-integrals and their applications. Fract. Calc. Appl. Anal. 2018, 21, 672-695. [CrossRef]
9. Set, E.; Choi, J.; Çelík, B. Certain Hermite-Hadamard type inequalities involving generalized fractional integral operators. Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 2018, 112, 1539-1547. [CrossRef]
10. Mehrez, K.; Agarwal, P. New Hermite-Hadamard type integral inequalities for convex functions and their applications. J. Comput. Appl. Math. 2019, 350, 274-285. [CrossRef]
11. Dragomir, S.S.; Pearce, C.E.M. Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula. Appl. Math. Lett. 1998, 11, 91-95. [CrossRef]
12. Kirmaci, U.S. Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula. Appl. Math. Comput. 2004, 147, 137-146. [CrossRef]
13. Duc, D.T.; Hue, N.N.; Nhan, N.D.V.; Tuan, V.K. Convexity according to a pair of quasi-arithmetic means and inequalities. J. Math. Anal. Appl. 2020, 488, 124059. [CrossRef]
